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homework #3, math 102, fall 2008

Instructions: put all answers on the homework sheet and attach pages to show
work. all work must be shown to recelve credit. all answers must be exact unless
otherwise indicated. simplify answers as much as possible even If not specifically
noted.

1. solve the following problem numerically: the high temperature for a
particular week in jJackson, mississippl can be descrbed by the quadratic
model y =1.05x*> —8.38x +89.43 where x Is the dayof the week (sunday = 1,
monday = 2, .. saturday = 7),and y I1s the temperature in degrees

fahrenheit. (you should give your table in the work pages.)
a. find the day of the week with the lowest temperature.

b. what is the lowest temperature for the week, rounded to the nearest
tenth?

c. doyou think that this equation models the temperature for much
longer than a week, say, 2 weeks? why or why not?
2. solve the following equations for the specified variable.

Q. A=3M —-2N forn

b. A=Prt+P forp
n
C. S:E(a+ L) for L

d. T =3vs—4ws+5vw forv

3. the cassinl spacecraft mission to saturn was launched october 15, 1997. it
took more than 6 % years to reach saturn, armving in july 2004. dunng its
mission, cassini will fravel atotal distance of 2 billon miles in 80.5 months.
find the average speed of the spacecraft in miles per hour. (hint: don't
forget to covert months to hours!)

4. give the quadrants the following points belong in. If they are not In a
quadrant, which axis (axes) do they fall on.
a. 4.1

b. (-3-6)



c. 0.2
d. (-1,9)
e. (7.0
f. (0.0
g. (1/2,-4.1)

5. for the following equations, sketch the graph and determine If the graph is
linear or nonlinear, and If nonlinear, 1s it a parabola, a cubic or a v-shaped

graph?
equation linear or If nonlinear, graph
nonlinear? | what kind?
3x+4y =11
4-2x-x*=y
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. sketch the graph of the equation Ix1- 2 =y using the values x=-3, -2, -1, 0,

1,2, 3. label each point clearly on the graph below.

A

e.

®)

v

v
solve the following inequalities. write each solution in 1. set notation, i1. on

a number line, 1. In iInferval notation.
—X>-2

TX<7(x-2)

—X+2 1-5x
— <
2 8

-1

7(2Xx+3) +4x <7+5(3x —4)

: %(x—lO)—4x>%(2x+l)—1

Q. define a relation. b. define a function. c. give an example of a relation
that 1s not a function and explain why It i1s not.

determine If the set {(6,6). (6.6), (5.-2), (7.,6)} 1s a function. If not, why not.



